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Adjusted odds ratio for incorrect answer

1 2 3 4 5 6

Lower order |, . 4 Higher order
thinking skill thinking skill
Single choi 3 4 Single ch
gle optio multipl
Questions w, / D ———— Questions with
linical vignett : clinical vignett
Positive choice | F——4——i Negative choice
question : question
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Think step by step and OpenAl’s ChatGPT answer answers

show me the answer (GPT-4) model
W’K‘)’h is correct ? Prompt for ChatGPT’s 7
400 PR 8 ...... ) answer
questions _H | /o : -
D) : E ZK %ﬁ { é
Taiwan’s National

uestions — . ;
Nursing License Exam o Which is correct ? The answer is l : |
A)

A —— Iml A. Correct, Decause ... preesseee /
> c) i B. Incorrect, because ....... -n
EE D). OpenAl's ChatGPT
E S

C. Incorrect, because .......

Explain each item (GPT-4) model D. Incorrect, because ....... Hf’fna'?'
. verification
Prompt for ChatGPT’s ChatGPT’s
explanations explanation
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